Integer division up to 100 #8

21) 784 = 49
22) 60 + 6

1410 + 30

2250 = 25

23) 1690 -+ 65
24) 232 =4

508 + 18

4264 = 52

25) 3150 + 50

3654 + 63

26) 572 + 52

1776 = 74

27) 196 = 93

1827 = 63

28) 3484 + 67

3060 =90

29) 1302 + 93

2928 + 61
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30) 104 =13
31) 637 =49
32) 1320 = 44
33) 5312 + 64
34) 1350 = 75
35) 280 = 70
36) 450 = 25
37) 6956 + 94
38) 3240 = 72
30) 2037 = 21
140) 6072 = 69

2805 =+ 85
3950 =+ 50
595 + &85
979 = 89
1742 + 67
624 + 78
5607 + 63
4350 =75
2052 + 57
935 + 55
924 =77
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Integer division up to 100 #8 (Solutions)

1410 = 30 = 47
2250 + 25 =90
558 + 18 =31
4264 + 52 = 82
3654 =+ 63 = 58
1776 =74 = 24
1827 =+ 63 = 29
3060 <90 = 34
2928 + 61 = 48
2800 + 85 = 33
3950 + 50 = 79
595 +85 =7
979 -89 =11
1742 = 67 = 26
624 + 78 =8
5607 + 63 = 89
4350 + 75 = 58
2052 + 57 = 36
935 + 55 = 17
924 =77 = 12

21
2
3
4
5
§
7
8
9

)
)
)
)
)
)
)
)
)
0)
)
)
)
)
)
)
)
)
)
)

W W N DN DN D DY N

1
2
3
4
5
6
7
8
39
40

W W W W W W w

784 +49 =16
60 +6 =10
1690 = 65 = 26
232 +4 =58
3150 =50 = 63
572 +52 =11
196 =98 = 2
3484 + 67 = 52
1302 +93 = 14
104 +-13 =8
637 +-49 =13
1320 =44 = 30
5312 + 64 = 83
1350 =75 =18
280 +70 =4
450 =25 =18
6956 +~94 = 74
3240 =72 = 45
2037 =21 =97
6072 + 69 = 88



